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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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“Working with macroeconomic concepts is a bare

necessity for the modern theorist who wishes to

contribute to the solution of the great problems of our
times.” —Tinbergen

Explain.
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Explain  different methods employed in the
measurement of national product. How are non-
marketed goods and services taken care of in
measuring the national product ?
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What are the policy implications of new classical
economics ?
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Ex-ante saving and investment differ but ex-post
saving and investment are always equal. Explain.
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (e ITRII Je)

Note : Section ‘B’ contains eight (08) short answer type
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questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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State the limitations of macro economics.
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What difficulties are encountered in estimating
National Income ?

TR 3T & A9 H A ATl TR BT Yool
BT |

What are the Keynesian objections against the classical
analysis ?
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Distinguish  between autonomous and induced
investment.
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Define investment multipler. How is it related to
marginal propensity to consume ?
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6. Derive the aggregate demand schedule from the IS-LM
model.

IS-LM HISd BT STANT & Y Aehel ANT LA bl
frHfor BT |
7. Explain the redistribution effect of inflation.
TE-EHIfd & AR YTl Bl Jeeled BT |
8. Explain Kaldor’s theory of business cycle.
PICSR BT AR 55 g WL BT |
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(Objective Type Questions) / (A& )

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this Section are compulsory.
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Choose the correct answer :
el TR BT I I

1. The difference between gross national product and
gross domestic product is equal to :

(@) Gross Domestic Investment

(b) Net Foreign Investment

(c) Net Imports

(d) Net factors income from abroad
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In the classical theory of employment what ensures the
perfect clearing of the labour market ?
(@) Flexibility of interest rate
(b) Flexibility of wage rate
(c) Flexibility of prices of the commodity
(d) Classical assumption of perfect competition
RIGTR & I RIgTd & JFJAR 514 dI6R Bl qof
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Which one of the following is not correctly matched ?
(@) Inflationary Gap—Keynes
(b) Cash balance approach—Pigou
(c) Accelerator multiplier—Hicks analysis
(d) Equation of exchange—Marshall
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Keynesian economics is based on :

(@ The assumption of short-run
(b) The assumption of long-run
(c) Both (a) and (b)
(d) None of the above
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The multiplier can be written as :
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(d) All of the above
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6. The relation between consumption and income is
called :

(@) Income function
(b) Production function
(c) Consumption function
(d) Saving function
ST T4 T & TR Pl HEl Ol 2
(31) 3T Tt
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(&) &ad B
7. 1f MPC is 0.6, the investment multiplier will be :
(a) 1.67
(b) 25
(c) 6.0
(d) 4.0
Ife MPC &1 A 06 8, 9 9% Tod &1 qed

(31) 167
(@ 25
(|) 6.0
(@) 40
8. Anincrease in money supply leads to :
(@) Rightward shift of IS curve
(b) Leftward shift of IS curve
(c) Leftward shift of LM curve
(d) Rightward shift of LM curve
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When planned savings equal ¥ — 40 + 0.20 Y and
planned investment is ¥ 60, the equilibrium level of
income is :

(a) 100 (b) %400

(c) 500 (d) 1,000
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The problem of deficient demand can be solved by
using :

(@) Fiscal policy

(b) Monetary policy

(c) Both (a) and (b)

(d) All are true
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